النثر الإنجليزي
المحاضرة ( 11 )
In next 3 lectures we're going to study very simple materials and things (voc-strategies) . (
To become very advanced country
) go to Page 113:
Leapfrogging the technology Gap.  
                                               
To jump over something              a space between 2 things
Pattern 1: from general to specific:
· Description of a problem.
· Description of the solution.
· History of why the problem exists.
· Examples to illustrate the problem and solution.
Pattern 2: from specific to general:
· Description of a number of specific examples of a larger problem.
· Explanation of the problem and its history.
· Solution.
حل التمرين صــــ115 والحل موجود في المحاضرة العاشرة 
Go to page 120 
6- analyzing compound adjectives with hyphens:
1- Internet – enabled motorcycles:
Motorcycles that can access the internet.
2- Service-based economy :
Economy based on service
3- Large-scale factory production:
Factory that are very big
4- A knowledge-based economy:
An economy based on information and technology.
5- Best-case scenario:
To see the best option to happen.
6- well-educated programmers:
A personwho is well educated & became a programmer.
7-  tech-savvy programmers :
a programmer who knows the technology, educated well and speaks English.
8- Internet-linked telecentres:
All linked by the internet.
نهاية المحاضرة
